
PROOF OF FORMULA 3.231.3

∫ 1

0

xp + x−p

x− 1
dx =

1

p
− π cotπp

Define

I(ǫ) = −

∫ 1

0

xp(1 − x)−1+ǫ dx+

∫ 1

0

x−p(1 − x)−1+ǫ dx.

Then
∫ 1

0

xp + x−p

x− 1
dx = lim

ǫ→0
I(ǫ).

Now,

I(ǫ) = B(1 − p, ǫ) −B(1 + p, ǫ)

=
Γ(1 − p)Γ(ǫ)

Γ(1 − p+ ǫ)
−

Γ(1 + p)Γ(ǫ)

Γ(1 + p+ ǫ)

=
Γ(1 + ǫ)

Γ(1 − p+ ǫ)Γ(1 + p+ ǫ)
×

(

Γ(1 − p)
Γ(1 + p+ ǫ) − Γ(1 + p)

ǫ
− Γ(1 + p)

Γ(1 − p+ ǫ) − Γ(1 − p)

ǫ

)

.

As ǫ→ 0, the integral I(ǫ) converges to ψ(1 + p) − ψ(1 − p), where ψ = Γ′/Γ is
the logarithmic derivative of the gamma function.

The result simplifies using the identities

ψ(1 + p) =
1

p
+ ψ(p) and ψ(p) − ψ(1 − p) = π cot(πp).
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